it'e lin

ol

ut

RE, |

;I

compound from a formul

acirad chamicala/h

CollTU CUIHITITIICUL VI ITT

y mass of

hemicalis not PU

~
~

| ¢

c f A

<o Ulriru

VALLBERRLRA® 1) 8 Il

Ixazith finAinAa Htha . m

at how To determine the composition

- converted from MASS to MOLES (related to the number of atoms/molecules)

0
S
175
()
O
)
e
. O
& O
< L ¢
> > 5
=
L Z <
w P
LUl >
@) DS [
S A O )
= O
- O ©
o £ 5= 0
= C o O 3
— )
O > | Q9 oa
L 5 2 c
OMke S = o0 2.9
= O > 2 £ g 5
: = 5 23 %3
o O O c '™
2 ! &
s o
O >
o o
% <




A
&

fan|

R of solutio

aVa lalWi W'\f‘\lf\f\ I\‘F

IUTTY THTOIT O [UTN 1T T\

| I |

HC

n

/

|
N

AT

oer LITE

o\lan

B

’

o

fa|

-

OLUT

N\ A
I, TTONVV]

\

v

-

moles of SOLUI

|
=8

Jl

NTRATION

AT~

M\
v

f
2,

C'hie |

I W

l‘"

E

~

[4

Sol

'\

J

=4

=

=T sel ot on

< :\‘ J "'"l.

0. O mo

/)

'Jl-—

6\.&'\!\

DOEMN D)

|

(
e

MOLAR CONC

A 4

W
L -y

A

A

moles of dissolved substance

[V BER 0 JaY ‘y’,

A

i

4

WA

N\ =

VI\

7\

s UJ Mol

;cvlr

1

N

M

‘ol et

- henwa N 25N

yovu 1iuviciu.ovu L (VU L)

vou have?

D NCA

A\ e ANy

OLARITY (M):

- ynit:




i

N

e~ \
~
L) N
NP
LO -
0 LY <
N4 U
C o O -
— IR § + £
f N
C — = 3
) == =
5 § 5 D
= K -] )
— j V-
~ S D
~ (
O 1 O mw
9 D ¢ 2

~hloric .acid, how man

UT

ure

eced|l

\

If vou need 0.657 moles of hvdroc

e

r

'
{\IIIM

Olly

1@
arassw

N

v/

glassware)

|Olwm L

(A
\

I\) I\)

j
U Ly

l%i
10l )

g

L

N Cl
o
- |4
Hic
M "\ >4

|

A7

Y
s
1
LU
Pany
VU TRui

/*\AC("('
OO0 mot U]

1]

Y. %

6

ed 6.00[M HC

>

ol HC|
vl

8’7 mgy

nf)
.>.

4
What if we u

O]




)
{ = -
= O S
£ - iR 0 5
> = @ ’ -
\J
v e IHW =% o) ©O
O c O = 0 5
= — .n_v m
Iﬁu e — AJ\ u L‘l -.\U
D | QO — D
Ab T \“J Il l“ —; P, “l
m mHVV If\.”. n WN lr s Al u ...\Iu u
wn 23 N D5 g = o )
< $ \-\W fﬁ v O - IIU O \_[u -
O O ¢ = b= =R C| 5
k= c O 2 © e = 0ol 0O
ITI Il N
r.m O | © g SE S O £l &
R D ~ Y M -~ .u r\ﬂ
¥ 5 g < S8 InNERREE- RSN
. - m/_. “l\\ D I 2] L 2
rw ) nw \% AN r > O m
i REC7, B~ : J ) D=
z 9 ¢ ‘L = £ 0
= QO 02 | . = T
Z O , ) o 2 &
o A4 - = —— \_J
S 05 - o oS+ ¢
)5 S ) =l | Y = X0
& 5% = o o0 4
= < O v g . = % p= % 0
D c T ( 3 —~ c 3 c o
= @) 2 O >t —= < ® O ol &
5 O = ( \Dv N V, + O =
O | o &g | 2 29 a o
e O O g b z ||y 5 D ol C
< O T - ~N = Plel T
) O © H ) O 0 Ol o
4 m O ¢ b “_ _| D) L_m r_U N
e II(e M 3= — ~C 2l 515D
©, v O — < O | O
— - - = ——
> 5 6 — T | = © =
_n_l_ e = ] b o) O cC 1
L. Q =S ~ 12 ¢ O o | C
O ©O 3 ~ S5 e o+r
Al '~ - B
N O = B AJV WJ T + u
O O < N e O O >
O 355 g O o ol &
c | O m.. Ol 0 O
S O & O x| v U
= O = [@]NL [ :
B O + —
dllkinlil= !




ﬁ;l-
©
a O
5 Ol -
=1 MIAdE Hw= 5
086 & -
> ® — O m muu
S ras i 1l = O RZ O
>3 ¢ o &
( o ©) ~ | =l I
= I N nlh m @) (@)!
\M Pnut E < 4 ”tr)\ n” —
=0 A O — =2 | O
== T C A e ] N
v 50 ¢ 0 2/ [ [
— -~ O — % c m O
0D 0 S ¢ o
S e E I C O Zlgl &
C - e Q) - )
| Y = [Sa) O = 5
\. ®) mw c R (@) —~r = L
= 0| = = 9 e
e Wrd r_\.” A 7 O = T~
i = U d [7p) )
S LB Ne a 0] -
E—on 0 A ~n
~ W MH D (V4] O 0 ) o)
pEEN () I m o (
WW P A T ()
avl S - e e rah) e
clEl @ I O 5 H
=l Bl [0) (f 7]
Sl | =2l —
Sz E e — | 2 | ( = bl
-~/ ., O O ~ 0 - ﬂﬂi_ I p lww —_— < __-
{ = o h on @) .}N ) | <o Tl N =¥
o~ - W = S -— [ N ——
olg - C ¢ O e 4 - o~
\l/a\.J “._lu MHPV — .\ s u \Ilo W 0 u \b . —
= | e — ~ —
O E-O 1 Pta O ¢ £ - e 3
V ~ = e ru’ e \II/.—_ ~ — \ N
OO d FIWn — ™) [\ ) D<) |
- p— r' a— T
LO ks O — m t >< o !
N O S = ) 1 N = =
D 0| £ on c| T ~J LD L1
~ 3% 0O I e o <
T T E e T TS T T TERPTT
t o O (- ) 2 £ = o £
~ 22> 5 A on cl & W O "
=53 > = 9 B R W € <o -
E=EpS ) = I o
m Alv F-\ Y TN l.-
\
N = () W) Y
L/ N \
~ 0 ~
* ——




C M=
& @)
R 7p]
—" ) % 3N
el |Hu
<L O SO
Y= )
<) QO m —~
VY pt {
9 £ ,
== O o
_.iU It I
N . r_l G
1 hw ) rm
- += O (o4, L
A O _ 0]
Al 59 < - Q
= O S o
_‘ 35 T £2%8v¢
= | — ol ~ & (N 2EES
0| ¥ O X o &) 5 5¢€E
i AN O O = T 00T af
FI\I: -— ﬂto . n m
‘ I J O )
—| 9 - MW () I — L
= ~ « = F 4§ mm
,. > O e
] 3 L 2| & + 075 O
= <& . 7 O < |l N ol 40
) — | L O C || = (X)) >0 E
= T2 |3 /) >oBl—=l = Y~ 000
yo & el NA O 0w <l ¢ OO0 & o
C = D 7T -
~ - . \ ﬂlé
O ™ 2= £
- = O D 2
) pd 150 £
R N en m MH | P
) o =20 5 iRQ 2
— | N R
NS @ 6 olld ] -
r- /.‘-\I- ===} =~ 4 N | S
) Do~ L0
) 9 Rlag) A “Nlo & s
— (@) \ ..l/, rlu | 5= \TV > & =
= ol U - il R S 915
= gl . T s | o OO0
- q & = <& — || W
& — a A —
<= S e Jo
e L 53 *
i ~ “v o U/ l
Q ) Q [wo ) A
nb -~ -— ﬂll Nr®
S R - n.;k S
) 27\ b
O -
— -~ (&
) n _ py
~)
/<




— N\
L 1
= c
- D | R
. = Y
O CaNe)
O
C — O o~
N _ ~
>. K| O < D)
O L= <
+ = 3
= A 20 = >
- \m.lu O O ._mu ) “— F)mD
( 4 n_Wv n.ns m mv \I,.w (a
) — L > 3
S 039 - 2 3
+ ~ Sl = \ .
0 > €010 & - F:
[0 P = O o d 5
- =2 O o ) € e €
b 5 o6 L R
C C c ' & & =]
o | @ 0 7 = ) <
- _ - o ) S O
RS B O Wu % - 0§
/N ra I = SO
A\ d 7
clo Y 2 ——
Y D1 an ) 1 [~
O O 2 o > ol
Tl il Ve T
O W = O -= d D S| 1
o —1 9% 8 — °l S
- — Il VU iy J -
1o 9T o S S =
ety N C |- A .
i D) = ( 0 < =
- Y O p= mN b Sr— ﬁ’
ol S| 0= O — 9 — |3
O =S ~ 070 O o A~ P9
>4 O —_ ~
= m = WW - J 0 g~ ' KV
w O = £ |0 m B S D
oL + 55 & O L P
2531 28% 3 , T
+ 3 Y 0 w 0 BEEEEE O
=5 | % @2 % S| +
e W v - o~
=R -IE ST 2L o 2= = S
= r [an .l
i %) —_ = =l = ll'
(OBle O 50 &= 9 S
Q& INIIP= NP > | =2 e
J -\ —_ (I = - )
=RENEY 0 6 0 5 ¢ Vs
x 9« T O =
- N\ _




iU

mMmnl
B APA]

511 wol

)T S

r

/

vl

OLL5

E\/f'\nﬂnv-\lr‘\-
LAUTTTIC,
509

-

&
\—2

fa
o ™
Yo )
LR 3
Nl
] [ >
QU = &
> 5 ® I
fah —
= | Q >
O O 5%
— ] cC o s
Q | | T c = &
c [ [ 3 - e e
O ) O N me |H._ |-
ﬂ\ ~ D X MI O
£ O v 4 += L0 =
Q| |5 El | N | O = =
U) VI
T+ >..s - * Om || o o €
0 [®) — C e £ £ 5
o MV 0 e O 0 o o O =
Q | | O |3 . Y- : - 0
© | o O I 2 q ol ol
M = [
- .._..L =i ~ 5 € _ Y
o | T O h ) | 2759
O = o) C | o O
oV QO — 5 = il =jiy]
i = Rl (7 N
9 c = O : -
5 |l = o > Q
< i O+ o O T
4\(\4 m rv C I—Il _ -
ﬂ) ./ —_ O \7 C Au > —
I\m ) +— o AI.U ﬁ. MW .7_ Dt
N
> ) [0 |
c o |0 I
M \ m.z_ m M W,. mw - >
D O L —=
-~ — R
S . o] C o= H
O O e O 37 | <l
= 0 c .mw
o O S >
W.CU d D £ ° 7
4= Q - 4= O
= 75 S o
—_— e P
—— O 7
- (7]
@
= o
O =
C =
0
3 =
—
T S
|

HC|

O U742 myl




